
EXERCISE 3

1. Show that the invariant operators Lk (k-point-pair invariant) commute with each other.

2. By using (Imz)s with s = 1
2

+ it, show that the Selberg transform k 7−→ h is given by
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du,
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,

h(t) =
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Deduce that the inverse is obtained as
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einth(t)dt,
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,
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.

3. Show that the level curves φ = constant, ϕ = constant of the geodesic polar coordinates

are orthogonal.

4. Show that
∑
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=
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)

δ

for any integers c, m, where µ is Möbius function.

Deduce that
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and that

ζ∗(2s)E(z; s) = ζ∗(2s)ys + ζ∗(2 − 2s)y1−s + 4
√

y

∞
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where

ηt(n) =
∑
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)t

.
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